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© General Instructions :

Read the following instructions very carefully and strictly follow them :

(i) This question paper contains 34 questions. All questions are compulsory.
(it) Marks are indicated against each question.

(iti) Answers should be brief and to the point.

(iv) Answers to the questions carrying 3 marks may be from 50 to 75 words.
(v) Answers to the questions carrying 4 marks may be in about 150 words.
(vi) Answers to the questions carrying 6 marks may be in about 200 words.

(vii) Attempt all parts of a question together.

1. Read the following statements Assertion (A) and Reason (R). Choose the

correct option from the given options.

Assertion (A) : Amount of Earnings is a major determinant of the
decision about dividend. 1

Reason (R) : Dividends are paid out of current and past earnings.

(A) Both Assertion (A) and Reason (R) are true and Reason (R) is correct
explanation of Assertion (A).

(B) Both Assertion (A) and Reason (R) are true but Reason (R) is not the
correct explanation of Assertion (A).

(C) Assertion (A) is true but Reason (R) 1s false.

(D) Assertion (A) is false but Reason (R) is true.

2. Choose the incorrect statement with respect to levels of management from

the following : 1

(A) Operational level management is responsible for implementing and
controlling plans and strategies developed by top management.

(B) At middle level management, managers interpret the policies framed
by top management.

(C) At operational level management with the efforts of supervisors
wastage of materials is minimised.

(D) At top level management, managers are responsible for the welfare
and survival of the organisation.

© 66/4/3/R4PSQ/21 P.T.0.
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‘Merely allocating work is not enough. Each individual should also know

@

who he has to take orders from and to whom he is accountable’. 1
The above statement is related to one of the steps of organising

process. Identify the step from the following :

(A) Identification and division of work

(B) Departmentalisation

(C) Assignment of duties

(D) Establishing authority and reporting relationship

-

A multinational sweets and snacks company had been into catering
business for the last many years. To add to its prospects and to grow in
the long run, it wants to increase its sales volume, the number of products
and capital investment.

The organisational objective of management it seeks to achieve is : 1
(A) Survival
(B) Profit
(C) Growth

(D) Corporate Social responsibility

Rajat was carrying on a business of manufacturing plastic disposables like
plastic plates, plastic cups and plastic straws. He heard about the
upcoming ban on single use plastics. He was able to identify this external
environmental trend which could hinder his firm’s performance. So he
took action and shifted to manufacturing the plates, cups and straws from
bamboo and palm leaves. As a result, his business not only survived but
was able to generate profit.
The point of importance of Business Environment highlighted above is : 1
(A) It enables the firm to identify opportunities and getting the first
mover advantage.
(B) It helps the firm to identify threats and early warning signals.
(C) It helps in tapping useful resources.
(D) It helps in assisting in planning and policy formulation.

6. 1s the process by which a manager synchronises the activities of
different departments. 1
(A) Management (B) Planning
(C) Co-ordination (D) Directing

QRLROEEEICECOCEEICELOCEOEEEUOEEEIOCEUOEEEIOCEUECEOICCEO0
(o)}

© 66/4/3/R4PSQ/21 P.T.0.



©00®000 PO EOEO®OEEEOO®OOEEPEO®OEE PO ©OE®

=

©

—
e

EE
aﬁ%mﬁm%ﬁ%ﬁaﬁgﬁaﬁﬁﬁ%ﬁwﬁﬁ@wwgw@%mlw
T o ITTAR ATehT fetfide + gelct g & Johst 3N oierel W Fafar &1 91 vd e, a9,
Seqren fafyr, wanfyr fafyr, siftreraw geu ger anfe yem fFn 2 |

ST § o SUHRRT 3TTehR T JhIe ST T 8, 98 @ ¢
(A) = H1 IARBR (B) T T IRIHR
(C) 3UMI<hT f31&T o7 37T (D) & HI IFRBR

foreror wfsran <1 g =or 2 T afe gererent & yarE & formreri i S T fha
ST Hehal &1l HHehT shl T AT AT |
(A) TrsareT wrent w1 fauior
(B) am&dfers st &6t A
(C) amdfaes fsa1ed 1 Aehi & et aei foree™ ferveryor
(D) GUNIcH HRIGTE! BT

hier-1 % feu mu vt favfa e fafm 91 o %t o1 swiam-11 # feu 7 37e6 sfiveni
ﬁﬁlﬂﬂ@ﬁm:

-

&Hid-1 ahieH-11
A. | wff TSI % et %1 wfne (i) | FemeRT %
B. |t o Srfenrey sifert W e (i) | greTeHeh H
C. | STaie MR | FEF0 qen T8 =eeri & | (i) | oo s

UGS AT

gt foeheq w1 = Hifore
(4) A(); B(ii); CO) (B) A(@); B(i); Cii)
(C) A(ib); B@); C(u) (D) Aii); Bai); C@)

‘Ig o8 Ifshan 2 S Sueteyt ffrt 6t 3eh watferes Scdresh frerer sraer # faftenfor et
2 TG AR

A) forch frrsH (B) ferciia wezreeran

(C) 3Taed H (D) ISh SAfe

66/4/3/R4PSQ/21



=

o

QELROEEEICEECOCEEICELOCEEEEOEEEIOCEUOEEEIOCEOECEOICCE0
©

g
[

Lyka Ltd. launched its new range of herbal shampoos at the beginning of

the year. As per legal framework, Lyka Ltd. provided the name and

address of the manufacturer, the weight, manufacturing date, expiry date,

maximum retail price etc. on the package and label of the herbal

shampoo. 1

The consumer right highlighted above is :
(A) Right to choose (B) Right to be informed
(C) Right to consumer education (D) Right to safety

is the step in the controlling process where standards may have
to be revised in case the deviation can not be corrected through
managerial action. 1

(A) Setting Performance Standards
(B) Measurement of Actual performance
(C) Comparing Actual Performance with standards and analysing deviations

(D) Taking corrective action

Match the functions of Securities and Exchange Board of India given in
Column-I with their headings given in Column-II : 1

Column-I Column-II

A. | Training of intermediaries of securities | (i) | Regulatory function
markets

B. | Regulation of takeover bids by companies | (i1) | Protective function

C. | Controlling insider trading and imposing | (ii1) | Development function
penalties for such practices

—
e

Choose the correct alternative :
(A)  A@i); B@ii); C@) (B) A@); BGi); C(iii)
(C) Aii); B@); C@i) (D) AQu); BGi); C@)

‘It is a process that allocates or directs funds available for investment into
their most productive instrument opportunity’. 1

This is known as :
(A) Financial planning (B) Financial Intermediation
(C) Allocative function (D) Capital budgeting

© 66/4/3/R4PSQ/21 P.T.0.
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11. Statement — I : That part of a brand which can be spoken is called a
brand name. 1

Statement — II : That part of the brand which is given legal protection is
called Trademark.

Choose the correct option from the following :

(A) Statement I is true and Statement II is false.
(B) Statement II is true and Statement I is false.
(C) Both the statements are true.

(D) Both the statements are false.

12. 1s the process of holding securities in electronic form. 1
(A) Financial Intermediation (B) Dematerialisation
(C) Allocative function (D) Mobilisation of securities

—
e

Payal was working in a Multinational company. Her father gifted her a
smart phone worth ¥ 40,500 on her birthday. The mobile phone was
purchased by her father from his friend’s shop. After few months, the
mobile phone started creating problems. Payal tried to contact the
manufacturer many times but he did not respond. Ultimately Payal
decided to file a complaint against the manufacturer. The appropriate
grievance redressal machinery where Payal can file a complaint is : 1

(A) Dastrict Forum/Commission (B) State Commission

(C) National Commission (D) Supreme Court

14. Which of the following is NOT a feature of ‘Directing’ function of
management ? 1

(A) Directing initiates Action.
(B) Directing takes place at every level of management.
(C) Directing ensures that activities are performed as per plans.

(D) Directing flows from top to bottom.

© 66/4/3/R4PSQ/21 P.T.0.
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‘Marbury biscuits’ launched its new range of oat cookies in three varieties.
They decided to distribute free samples of their biscuits in schools as a
part of their promotional campaign.
Identify the tool of promotion used by ‘Marbury Biscuits’ :
(A) Advertising (B) Personal Selling

(C) Sales Promotion (D) Public Relations

Which of the following is an advantage of Informal organisation ?

(A) It provides stability to the organisation because behaviour of
employees can be fairly predicted since there are specific rules to
guide them.

(B) It leads to effective accomplishment of goals by providing a
framework for the operations to be performed.

(C) It enhances the employee’s job satisfaction since it gives them a
sense of belongingness in the organisation and allows them to find
like minded people.

(D) It helps in avoiding duplication of efforts as there is no ambiguity in
the role that each member has to play.

The picture given below is the package of a perfume bottle :

Identify the level of packaging of the box shown above :
(A) Primary package (B) Secondary packaging
(C) Transportation packaging (D) Both (A) and (B)

66/4/3/R4PSQ/21 Page 11 P.T.0.
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18. Statement — I : Business Environment is dynamic as it differs from
country to country. 1

Statement — II : Business Environment is largely uncertain as it is very
difficult to predict future happenings.

Choose the correct option from the following :

(A) Statement I is true and Statement II is false.
(B) Statement II is true and Statement I is false.
(C) Both the statements are true.

(D) Both the statements are false.

19. Which of the following is NOT a feature of demonetisation ? 1

(A) It leads to creation of a less-cash or cash-less (free) economy i.e.
channeling more savings through the formal financial system and
Improving tax compliance.

(B) It is interpreted as a shift on the part of the government indicating
that tax evasion will no longer be tolerated or accepted.

(C) It s viewed as a tax administration measure.

(D) It led to tax administration channelising savings away from the
formal financial system.

20. 1s the process of holding securities in electronic form. 1
(A) Financial Intermediation (B) Dematerialisation
(C) Allocative function (D) Mobilisation of securities
21. (a) ‘Planning and controlling are inseparable twins of management’.
Explain with the help of any three points. 3
OR

(b) Explain ‘Critical point control’ and ‘Management by exception’ as
discussed in the controlling process. 3

© 66/4/3/R4PSQ/21 Page 13 P.T.0.
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(a) Distinguish between ‘Capital Market’ and ‘Money Market” on the
basis of : 3
(1) Instruments
(11) Liquidity
(1) Safety
OR
(b) Explain the following as factors affecting financing decision : 3
(1) Fixed Operating Costs
(11) State of Capital Market

DO
po

)
o

Three friends, Aman, Ashish and Ashi after completing their MBA from a
reputed management institute, formed a start up named ‘Solutions’. The
goal of the start up was to make a social and environmental impact
through its services. ‘Solutions’ supports social business ideas to improve
living conditions in slums of Mumbai. As all the three friends are
specialised in social work, they adopted three different slums of Mumbai
and started educating the slum dwellers in their own creative manner.
Aman used ‘playway method’, Ashish used ‘music’ as a method of learning
while Ashi used ‘activity based method of learning’. They used basic
knowledge in their unique manner and were able to educate the slum
dwellers.
It implies that skillful and personal application of acquired knowledge
varies from individual to individual in achieving desired results. 3
(a) Identify and state the nature of management discussed in the above
case.
(b) Quoting lines from the above para, state any two features of nature
of management identified in (a) above.

DO
-

The rapid changes having taken place in the society have created pressure
on organisations to readapt its products, type of jobs required and type of
skills necessary to complete these jobs. To keep up pace with the rapid
changes in the business environment, ‘Suzon cars’, a company
manufacturing automobiles for the last thirty years decided to start
manufacturing electric cars with Artificial Intelligence technology. With
the introduction of Artificial Intelligence, the company had to improve the
knowledge and skills of its employees. They wanted that all their
employees improve their performance on the current job and are prepared
for any intended job in future. This way they would not only be able to
increase their knowledge and skills but would also improve their
performance. By doing this, the organisation too would get wvarious
benefits. 3
(a) Identify the concept discussed above which would help the employees
to do the job in a better way using Artificial Intelligence Technology.
(b) State any five benefits of the concept identified in (a) above to the
organisation.
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%
(o) e 5 e e 3 e ager T e
AU
(b) TEwu ht frferfaa ek foes sTenati =t aHesT
(i) Aol srgTe
(i) 3TETY GehoudTd

Hu-g fafies gafages amei & forg wrenfera gof fafamfor 6wk wfrg et off | <fs
Selferge aTeHT oh | g W oft 31a: Terfera Sl ohl HIT I QU B % foIu HE
fafiee =1 sifres ISt 1 sTravEeRar oft | hu fafiee o faa yerue 31ge 3 gomg @
fop <fer X STSIR dIsft 9T AT | 37q: ST & 37T o FTSIeh FHTHT GIRT 1Y Tehtrd fohy
¢ | g HRERRT ekt weft wifer Tk o o Iy T w38 ufR § T
Shael BT T TS BT =0 w0 BT UG 39k T Ikt @ i ot SrTawEehdn
Bt | Rt oft 97 fod verures & @1y wewa = T 3R vRdE wavfa v fafr 91 %
feam i o1 SruTeR td BT 3T B A &9 @ fifera s fea e |

SIE B I 4Sht g % 999 1 TWIfia R 91l IR ST Sl TgEIT Td 3T
Il @ HIT |

I fea-vfafer & s & fore ffSr ush fohoam R W e | =X ug=em 99 & 38 1A
o2 1 ¢ o foTT 379 O & ffepd grmel faw o1 ene fepten @t 38 weg@ ferern T
3G I HH AT | I TEEER <hl G TR 30 3G It ! i<l b1 a1 I o 3wept
S 60 T AT Fafeh Faed o Yohe T T oieel o TTAR SHehT IsH 100 T AT | 384
Tmfar @ gueh feman 37 3ok SR & fymhrara i | fmtar 3 38 wes fie 3em feam S e
1, Tor g forelt o1 ot 5ok IR & 7 warw | 7Y A fide @R wiehR o & 741 e fen
3R 38 T =1 g framo ToiE & g 78 |

(a) ITH Rl d wp 3uaht & w9 # [y 7 {59 <1 saerfeat 1 s foran s

oot iU |

(b) Ut forel & TEAl 1 Seoig shifore St 3T 1 & S TRt 2, Afe Sumear tererd
ferehrr A i T TP B |
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25. (a) Give the meaning of ‘Leadership’ and ‘Communication’ as elements
of directing function of management. 4
OR
(b) Explain the following as ‘semantic barriers to communication’ : 4

(1) Faulty translations

(1) Unclarified assumptions

)
o

Kaysons Ltd. was a reputed company manufacturing automotive parts for
electric vehicles. As the demand for the electric vehicles grew, Kaysons
Ltd. needed more capital to keep up with the demand for automotive
parts. Atul, the Finance Manager of Kaysons Ltd. suggested that the
company should raise funds through a public issue of shares as the stock
market was bullish. The Chief Executive Officer fully understood that this
process of raising funds would not only reduce the managements’ holding
in the company but would also require considerable expenditure. Even
then he agreed with the Finance Manager and the public issue of shares
was made complying with the guidelines of Securities and Exchange
Board of India.

Identify and state four factors affecting choice of capital structure being
discussed above. 4

DO
~

Nishi had gone to a grocery store to make routine purchases. On reaching
home, as she took out Binx tomato chips packet from the bag to give it to
her son, she felt that it was underweight. She checked its weight on the
kitchen weighing scale and found that it weighed 60 grams whereas the
label on the chips packet mentioned the weight of the packet as 100
grams. She approached the manufacturer and complained about it. The
manufacturer offered her a gift hamper and requested her not to disclose
this to anyone. Nishi refused to accept the gift hamper and took the issue
to a redressal agency. 4

(a) State two responsibilities discharged by Nishi, as a consumer, in the
above case.

(b) State any two reliefs which can be granted to Nishi, if the consumer
court is satisfied with the genuineness of the complaint.
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Tsh AT hl HEUA Yol STETIRAIST i YA i al FHfIRad weeni i
THTET ;

(a) HETAH HEHICT

(b) = AT hl IuATHT

(a) == gfsean & frfafaa =won 1 gaemee
(i) =RF wdied
(i) TSR TTEThR
AUl

(b) SEH o ‘TfHRT i % A o gl I fag31 i Ieei@ hIfVT |

FITaT WoeTTEiS frset uegg 9wt @ @R U fafrmior & sremm g oft | o fasar
Y 3 A HH AT T T U aret IR Ie Fafor s & @ off | aiomresy
ST TUTITSISIS’ <hl 37T <hl &1¢ HY 3171 T 37X I8 Teh 1< 119 39T 30~ &
i g e |

OO o HUEITET ! TRURG B & folt HEH F 370 T FS I ITh H! Hgq
T GIHTEST ¢ 1 Fvi fon | orfamg 3R Jre =1, St 319e7Y 6 3TMER W ST |§
HERT ¥, HEH H TR ®9 § W@ o T | QA 9gd g9 9 il 376 3 3O WiEt
3T o R | feuwar oft | wehar, St foh st 31wk fafira s oft, o7 shy ud o
T o6 3799% < 9 1§ HRRA o, I TH T HANE HHAR TEHR H TERA TohaT T |

(a) STT=T UUCTITETNST G $8eh TN ohi fEU 7T TIcHTEAT oh! 8T Ud WS |

(b) WA & FEIHAT A Hgd & TIR 3 caredl d swu=nir 6t fha
STETIHATS hl TGS BNl & ITehT Iewid HIFT |
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28. Explain the following factors affecting the working capital requirements

of a company : 4
(a) Operating Efficiency
(b) Availability of Raw Material

)
©

(a) Explain the following steps of the selection process : 4
(1) Selection Tests
(i1) Employment Interview

OR

(b) State any four points of importance of ‘Staffing’ function of

management. 4

30. ‘Shanta Enterprises’ was in the business of manufacturing solar panels
for the last fifteen years. With their expertise now they were able to
manufacture good quality solar panels at lower cost. As a result ‘Shanta
Enterprises’ was flooded with orders and was able to generate a good

profit margin.

To motivate the employees the company decided to compensate some
of them for their hard work. Arvind and Yogesh, who were working on
contract basis, were absorbed permanently in the company. Both were
happy as now there was stability about their future income. Ekta, a
regular employee of the company, working as Research and Development

Head, was awarded the ‘Best Employee of the year Award’. 4

(a) Identify and explain the incentives given by Shanta Enterprises to

its employees.

(b) State the needs of the employees being met by such incentives as per

Maslow’s Need Hierarchy Theory.
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. (a) e P e i et o wu § ReRad ) qugE ;

() TS 5 fag wE TH EaT 2 |
(i) TR afaeEd R |
Gii) e | ol s a2
JrerEn
(b) TS ufshan & frfeftaa <o = awemE
Q) el fuio
(i) forermesfier snuw
(iii) hRCETEl 1 Jenfedes fafemt 6 =

3T Tedn 1 318 & off forvafaener @ sroft vy St Wt 8 | 97 S YaeeA & 3T
T ! 3Gh GRI TATUT BRE BT WU HIhl S H ITAM § THT I18dT o1 | I8 W&l
T % Teh 9T o &Y H S, H1eH 37 Aehd SeTle IUE &I 7 |

JTSThel TNT VIS < SR § §gd Hoid @ 31d: 98 Hshichd el HId, WishaTT,
faferat, % gl wefie Sefe o1 ST T TET AT | 3e2 AT IhuAT o A w1
ST | THT hieh I8 A hael AN H HHT i H Ahl TaT TfUg S, HIgH qei Ashd shi
% ToheH WG ot 1 Hl A 18T 3R 38 TR SATIR hl HHAT 9 T8 |

P TN 39 &1 H fvama T@dn o1 foh FHretdr bl 9 & folt hadl Teh qasg
faftr gt 2 | o aftomeerey 3o siftg 61 fired 0, %158 1 Th™ qUT IhE AR
T g fafeat faeswfaa 6 | SHe ge 389 o1 uTesh i GqfE i sifiekdn S,
ST 3| 9T SR fora |

T had 379 BT DI FENE Teh & HET HEAT JfUg HICTATgeeh 3T Bl hl
TosaTes 6 o foru ‘it s’ Forafira w1 & widreror wa foesr st o fafitoa et &
dTfeh HHTATICT 1 MTETTH T TF hivel & gafstd foham <1 &b | ‘i i’ fowama
Sl 8 foh poet At ATk It ST 3R AT 3™ 1fd S | 389 Hr v
FHH=t 1 o foru stfeshan wrigera vd wufg gifoaa anft |

I feufa & H A grr s § e e At yeeed % fagrd
e 1o TR ThTT STAT 7T & | UH Terdft ueh Tt wd 1 dehiehl ol THEST |
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(a) Explain the following as features of planning function of

w
=

management : 6
(1) Planning focuses on achieving objectives.
(1) Planning is futuristic.
(11) Planning involves decision making.
OR
(b) Explain the following steps in the process of planning : 6
(1) Setting objectives
(i1) Developing Premises

(i11) Identifying alternative courses of action

32. Ankur Sachdeva did his MBA from ITB University. He decided to apply
his knowledge of scientific management in the fast food restaurant chain
‘Coffee Bean’ set up by him. This restaurant was providing burgers, fries,
shakes etc. as a part of its menu. 6

Now a days people are quality conscious, so he was using
standardised raw materials, processes, methods, working conditions,
machinery etc. The objective was to establish standards of excellence. By
doing this he was not only able to reduce the cost but was also able to
provide new varieties of burgers, fries and shakes leading to increased
turnover.

Ankur Sachdeva also believed that there was only one best method
to maximise efficiency. As a result he developed best way of grilling
burgers, cooking fries and preparing shakes. His main objective was to
maximise the satisfaction of customers, which he was able to achieve.

Not only to learn the best way of doing a job, but to perform their
tasks efficiently, ‘Coffee Bean’ regularly invests in training and
development programmes to equip employees with the necessary skill and
knowledge. ‘Coffee Bean’ believed that efficient employees will produce
more and earn more. This will ensure their greatest efficiency and
prosperity for both company and workers.

The above case highlights the use of Scientific principles and
techniques by ‘Coffee Bean’. Explain any one such principle and two
techniques.
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33. (2) frove ¥ Freferad w5 wwemsy -
(i)  3ITE 1 TUTHA U forshra
(i) ifes ferao
(iii) TUEYT JUET YSRIT

AUt
(b) T fufter s yfad s arer frfefad ool w1 TmemT
(i) 9% AT
(i) SufET ue /i
(iii) &SR H gfnfiar < d

(GV]
=~

. YA T L TE T 3T @1 9o T A TS 3 T TR | <ffen 35k afireranai
T §¢ W oft, 37a: 98 W T9 $® gurer 6 feufa 9 78 ot | 3ue uge ik fan
her s, TUTET i, THRME a2l ATt TFHaT § FERIAn id < fofw 619 o @ |
304 3= Tafvea st & srrtd 1 & &1 AfGSR TeH 6 | 36 TR 98 AT
T I WTAfehdT ATt ST S8 98 @HT S < it faesfea s aun faveeeg
Torenfira e 31TfE o SRIFT L Fehel! off | aftomTRErEY TUga Ut & w1 o7ad fashm qen
U AT ST ITANT HiA o ITFER et MU | fifer 376 ILTAT T 37T I higd B Teht
IR B: AT o A< &l 3T g8 TG TIUSTAT ST T &7 ITH L o |

(a) YHifd g 3T =TT & LA W DM hirgd i I I AT T ITH H &
foTT Iu=T 8 TS 718 Te hl STAUROT I Ug=ET |

(b) U (a) T TGETI TTE ARV < HE o [ohral Uidl (S-GH] ol THFAST |
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(a) Explain the following functions of marketing :

(1) Product Designing and Development
(11) Physical Distribution
(111) Storage or Warehousing
OR
(b) Explain the following factors affecting ‘Price determination’ :
(1) Product Cost
(11) The Utility and Demand

(111) Extent of Competition in the market

Preeti started her own cooking channel on Youtube ‘Mood Art’. As her
subscribers increased, she was not in a position to manage everything on
her own. She hired Rahul and Riya to help her with filming, editing,
lighting and content research. She granted authority to them to operate
within prescribed limits. She was thus, able to use her time on high
priority activities like developing new recipes and content development
etc. As a result, Rahul and Riya were given opportunities to develop and
exercise initiative. Preeti was now able to focus on objectives and meet the
target of achieving a subscriber base of one million in six months.

(a) Identify the concept of management used by Preeti to focus on
objectives of her business and meet her targets.

(b) Explain any five point of importance of the concept identified in (a)
above.
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